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Y12 Applied Chapter 9—Kinematics 1
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f KEY \WORDS ¢ DEFINITIONS : ," WHAT DO I NEED TO KNOW b
I Ly
I Velocity "1 | The gradent on a dsplocement-time graph = velocity :
1 . y |
I The rate of change of displocement I |
I 2 Acceleration : i 2 If o dsplocement-fime graph is a straght Ine then |
: The rate of change of velocity ¥ the velocify is constont. :
\ f
R L “ 1 3. The gradent on a velocity-tme graph = acceleration :
———————————————— - 1 i
rf SUU.‘-’!T [EQUATIONS \\.t : 4 If a velcity-time graph s a straight ine then the :
! occeleration is constant. |
i For motion in a straght line with constant \ : |
y  acceleration: : 1 & The area between a velocity-time graph and the :
: v=u+at I : time axis = Distonce travelled :
I 2 Yy
|| V= 2as s—displacement | |1 & Average Speed - Totd Distonce Traveled :
: 5 = uf + lm: u = initial velocity | 1 : Totd Time Taken :
I 2 v — final velocity : i :
: 1, a-—acceleration | | : 7. Average velocity = Dsplocement From Stort Pont
' s=vi-—at t-time 'y Totdl Time Taken :
| | |
: 5= %{n +v)r : : f. Acceleration due fo gravity = 9.8m/s? |
I - I :
: To derive the SUVAT equations: : : 9. Acceleration due fo growify does not depend on the :
1 =Find the gradent of a velocity time graph : I mass of the object. |
I with 11 1 I
l Lmele::. with u, v, 1 _ 11 10 The degree of accuracy in your answers must be :
- Find The area underneath the velocity-Tme | consistent with the values given in the question. le. if :
| gropn : I g = I0m/s?in the question, your answer shoud also 4
I = Use these two equations to reploce eoch ' hede |
I y  be gwen fo |sig fig
variable at a time fo derive the other three : A :
, equations L b !
[" ALWAYS DRAW A SKETCH! k
| _u, L v, :
: Inifial velocity Constant acceleration  Velocify offer t seconds |
| |
|
| [ - .
I * q > I
s Initial position Position after :
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